On the asymptotic behavior of solutions of nonlinear Volterra equations and its application to nonlinear heat flow with memory

#### 1. Introduction.

We shall consider the problem of nonlinear heat flow in materials with memory:

$$(M) \begin{cases} \frac{\partial}{\partial t} (u(t,x) + \int_{-\infty}^{t} k(t-s)u(s,x)ds) = \sigma(u_{x}(t,x))_{x} + h(t,x), \\ t \in \mathbb{R}^{+}, x \in (0,1), \\ u_{x}(t,0) \in \mathcal{B}_{0}(u(t,0)), -u_{x}(t,1) \in \mathcal{B}_{1}(u(t,1)), t \in \mathbb{R}, \\ u(t,x) = u_{0}(x), t \in (-\infty,0), x \in (0,1). \end{cases}$$

Our main objective is to show the existence of a "generalized" solution of (M) and its asymptotic behavior. We interprete (M) as an abstract nonlinear Volterra equation in  $L^p(0,1)$  of the form:

(E) 
$$\begin{cases} \frac{d}{dt} u(t) + Au(t) + G(u)(t) \ni h(t) + k(t)u_0, & t \in \mathbb{R}^+, \\ u(0) = u_0, & \end{cases}$$

which can be rewritten as

$$u(t) + \int_{0}^{t} b(t-s) Au(s) ds \ni g(t), \quad t \in R^{+},$$

with appropriate functions b and g (cf. (5)).

In § 2 we prepare an abstract theory dealing with (E), after that in § 3 we state the main result of this paper (Theorem 3.3) and some remarks, and the proofs are contained in § 4.

### 2. Abstract results.

In this section, let  $(X, \|\cdot\|)$  be a real Banach space and A be an operator in X, and we consider the following evolution equation:

(E) 
$$\begin{cases} \frac{d}{dt} u(t) + Au(t) + G(u)(t) \ni h(t) + k(t)u_0, & t \in \mathbb{R}^+, \\ u(0) = u_0, & \end{cases}$$

where  $G(u)(t)=k(0)u(t)+\int_0^t u(t-s)\,dk(s)$ ,  $k\in BV_{loc}(R^+)$  and  $h(t)\in L^1_{loc}(R^+;X)$ . By a strong solution of (E), we mean a function in  $W^{1,1}_{loc}(R^+;X)\cap C(R^+;\overline{D(A)})$  which satisfies (E) for a.e.  $t\in R^+$ . A function  $u\in C(R^+;\overline{D(A)})$  is called simply a solution if it is an "integral solution" of (E) considering h(t)+k(t)u-G(u)(t) as an inhomogeneous term. For the existence of a solution of (E), we recall the following

THEOREM 2.1 ((5)). Assume that A is m-accretive,  $u_0 \in \overline{D(A)}$ , and  $h \in L^1_{loc}(0,\infty;X)$ . Then there exists a unique solution u(t) of (E). If X is reflexive,  $h \in BV_{loc}(R^+;X)$  and  $u_0 \in D(A)$ , then u is a strong solution.

Now, we consider the asymptotic behavior. For the sake of simple and unified treatment, let X be uniformly convex and smooth. Then we can define the continuous nearest point mapping P onto  $A^{-1}0$ , provided  $A^{-1}0 \neq \Phi$ . Denote by J the single-valued duality mapping.

 $\begin{array}{lll} \underline{\text{Definition ((11))}}. & \text{A is said to satisfy the convergence condition} \\ \\ \text{if } (x_n,y_n) \in A, \ \|x_n\| \leq M, \ \|y_n\| \leq M \quad \text{and} \quad \lim_{n \to \infty} \langle y_n, J(x_n-Px_n) \rangle = 0 \\ \\ \text{imply} \quad & \frac{1 \text{ im}}{n \to \infty} \ \|x_n-Px_n\| = 0. \end{array}$ 

Concerning the asymptotic behavior, we have the

THEOREM 2.2. Let  $k \in L^1(R^+)$ , nonnegative, nonincreasing, and bounded. Let  $h \in L^1(R^+;X)$  and  $u_0 \in \overline{D(A)}$ . Assume that A is maccretive,  $A^{-1}0 \neq \Phi$ , and A satisfies the convergence condition. Then

(2.1)  $\lim_{t\to\infty} \|Pu(t+h)-Pu(t)\| = 0$  for each fixed h > 0 implies that the solution u(t) of (E) converges strongly to an element of  $A^{-1}0$  as  $t\to\infty$ .

It can be shown that if (I+A)  $^{-1}$  is compact, then  $\lim_{t\to\infty}$  Pu(t) exists, and hence (2.1) is valid. Therefore we obtain the

COROLLARY 2.3. Let k, h,  $u_0$ , and A be as above. If  $(I+A)^{-1}$  is compact, then the solution u(t) of (E) converges strongly to an element of  $A^{-1}0$  as  $t \to \infty$ .

Remark. Indeed, we can assume the weaker condition than the compactness of  $(I+A)^{-1}$ , the bounded compactness of  $A^{-1}$ 0 as (13), but the above setting is available from the viewpoint of proposition below, which states the sufficient condition for A to satisfy the convergence condition.

PROPOSITION 2.4 ((11,12)). Let X be uniformly convex and smooth. Let A be m-accretive with  $A^{-1}0 \neq \Phi$ . If  $\langle y, J(x-Px) \rangle > 0$  for every  $(x,y) \in A$  with  $x \notin A^{-1}0$ , and the resolvent  $(I+A)^{-1}$  is compact, then A satisfies the convergence condition.

Proof of Theorem 2.2. Note that  $Pu(\cdot) \in L^{\infty}(R^+;X)$  by the boundedness of u(t) (since  $A^{-1}0 \neq \Phi$ ). Using (10, (3.1)) or (7, Lemma 2.10(a)), it may be assumed that  $u_0 \in D(A)$ ,  $h \in C^1(R^+;X) \cap W^{1,1}(R^+;X)$  and u(t) is a strong solution of (E). Then (7) shows that

(2.2) 
$$\lim_{t\to\infty} \|u(t) - Pu(t)\| = 0$$

by using the convergence condition.  $\|u(t+h)-u(t)\| \le \|u(t+h)-Pu(t)\| + \|Pu(t)-u(t)\|$  and

$$\| u(t+h) - Pu(t) \| \le \| u(t) - Pu(t) \| + \int_{0}^{t} k(t-\tau) \| u(\tau) - Pu(t) \| d\tau$$

$$+ \int_{t}^{t+h} \| h(\tau) + k(\tau) g(0) - k(\tau) Pu(t) \| d\tau$$

$$\le \| u(t) - Pu(t) \| + \int_{0}^{t} k(t-\tau) \| u(\tau) - Pu(t) \| d\tau$$

$$+ \int_{t}^{\infty} \| h(\tau) \| d\tau + M \int_{t}^{\infty} k(\tau) d\tau,$$

by (10, Lemma 3.1). Thus if we show that

(2.3) 
$$\lim_{t\to\infty} \int_0^t k(t-\tau) \|u(\tau) - Pu(t)\| d\tau = 0,$$

then the proof will be complete. Now, fix T > 0 and let t > T.

$$\int_{0}^{t} k(t-\tau) \| u(\tau) - Pu(t) \| d\tau$$

$$= \int_{0}^{t-T} k(t-\tau) \| u(\tau) - Pu(t) \| d\tau + \int_{t-T}^{t} k(t-\tau) \| u(\tau) - Pu(t) \| d\tau$$

$$\leq M \int_{T}^{\infty} k(n) dn + \sup_{t-T \leq \xi < \infty} \| u(\xi) - Pu(\xi) \| \int_{0}^{\infty} k(n) dn$$

$$+ \int_{0}^{t} k(n) \| Pu(t-n) - Pu(t) \| dn$$

$$\leq \widetilde{M} \left( \int_{T}^{\infty} k(n) dn + \sup_{t-T \leq \xi < \infty} \| u(\xi) - Pu(\xi) \| + \int_{0}^{T} \| Pu(t-n) - Pu(t) \| dn \right).$$

By (2.2), (2.1) and the Lebesgue convergence theorem, we have  $\frac{1}{\lim_{t\to\infty}}\int_0^t k(t-\tau)\|u(\tau)-Pu(t)\|\,d\tau \le \widetilde{M}\int_T^\infty k(n)\,dn. \text{ Since $T$ is arbitrary,}$  (2.3) is proved.

Proof of Cororally 2.3. Noting that  $\{Pu(t):t\geq 0\}$  is bounded and  $Pu(t)=(I+A)^{-1}Pu(t)$ , since  $(I+A)^{-1}$  is compact,  $\{Pu(t):t\geq 0\}$  is precompact. Thus there exist  $t_n \to \infty$  such that  $\lim_{n\to\infty} Pu(t_n) = \alpha$  for some  $\alpha\in A^{-1}0$ . Let  $r(y)=\overline{\lim_{t\to\infty}}\|u(t)-y\|$  for any  $y\in A^{-1}0$  (indeed, limit exists by (10,Lemma 3.2)). In general if X is uniformly convex, then there exists uniquely  $z\in A^{-1}0$  such that  $r(z)=\inf\{r(y):y\in A^{-1}0\}$ . (See e.g. (6,Chap. 1,Th. 4.1).) It then follows that

$$r(\alpha) = \overline{\lim_{n \to \infty}} \| u(t_n) - \alpha \| \le \overline{\lim_{n \to \infty}} (\| u(t_n) - z \| + \| Pu(t_n) - \alpha \|) = r(z).$$

Thus  $\alpha = z$  and  $\lim_{t \to \infty} Pu(t) = z$ . This completes the proof.

3. Nonlinear heat flow with memory.

In this section, we consider the following problem of nonlinear heat flow in materials with memory:

$$\begin{cases} \frac{\partial}{\partial t} (u(t,x) + \int_{-\infty}^{t} k(t-s)u(s,x)ds) &= \sigma(u_{x}(t,x))_{x} + h(t,x), \\ & t \in \mathbb{R}^{+}, x \in (0,1), \\ u_{x}(t,0) \in \mathcal{B}_{0}(u(t,0)), -u_{x}(t,1) \in \mathcal{B}_{1}(u(t,1)), t \in \mathbb{R}, \\ u(t,x) = u_{0}(x), t \in (-\infty,0), x \in (0,1). \end{cases}$$

where  $k \in L^{1}(R^{+}) \cap BV_{loc}(R^{+})$  and  $\sigma$  satisfies ( $\sigma$ )  $\sigma \in C^1(R)$ ,  $\sigma(0)=0$ ,  $\sigma(R)=R$ ,  $\sigma'(r) > 0$  ( $r \in R$ ), and  $B_{i}$  (i=0,1) are maximal monotone graphs in R×R satisfying  $0 \in \mathcal{B}_{1}(0)$ .

#### Examples:

- 1.  $B_i=0$  (i=0,1)  $\Rightarrow$  Neumann condition.
- 2.  $\mathcal{B}_{i}(x) = \begin{cases} R & \text{if } x=0 \text{ (i=0,1)} \Rightarrow \text{ Dirichlet condition.} \\ \phi & \text{if } x\neq 0 \end{cases}$ 3.  $\mathcal{B}_{0} = 0 \text{ and } \mathcal{B}_{1}(x) = \begin{cases} R & \text{if } x=0 \\ \phi & \text{if } x\neq 0 \end{cases} \Rightarrow u'(0) = 0 \text{ and } u(1) = 0.$

Let 1 . In order to interpret (M) as an abstract equation

(E), define L by

$$D(L) = \{u \in C^{2}(0, 1) : u'(0) \in \mathcal{B}_{0}(u(0)), -u'(1) \in \mathcal{B}_{1}(u(1))\}$$

$$Lu = -\sigma(u')' \quad \text{for } u \in D(L),$$

and then, considering L:D(L)  $\subset$  L<sup>p</sup>(0,1)  $\rightarrow$  L<sup>p</sup>(0,1), let  $A = L^{p}$ -closure of L.

Since  $u(t,x)=u_0(x)$  for  $t \in (-\infty,0)$ ,

$$\begin{split} \frac{\partial}{\partial t} \left( \int_{-\infty}^{t} k \, (t-s) \, u \, (s,x) \, ds \right) &= \frac{\partial}{\partial t} \left( \int_{0}^{t} k \, (t-s) \, u \, (s,x) \, ds \right. + \int_{t}^{\infty} k \, (s) \, ds \, u_{0} \, (x) \right) \\ &= k \, (0) \, u \, (t,x) + \int_{0}^{t} u \, (t-s,x) \, dk \, (s) \, - \, k \, (t) \, u_{0} \, (x) \, . \end{split}$$

Therefore, we can see (M) as (E).

Our main aim is to show the following two propositions:

## PROPOSITION 3.1. Suppose that

(3.1) 
$$\int_0^\infty r \min\{\sigma'(s): |s| \le r\} dr = \infty, \text{ and }$$

(3.2) 
$$\sup \{|y|: y \in R(R_i)\} < \infty \text{ for } i=0 \text{ or } 1$$

Then A is an m-accretive operator in  $L^p(0,1)$ , the resolvent  $(I+A)^{-1}$  is a compact operator, and A satisfies the convergence condition defined in §2.

# PROPOSITION 3.2. Suppose that

(3.3)  $\exists \delta > 0$ :  $\sigma'(r) \ge \delta$  (Note that (3.3)  $\Rightarrow$  (3.1).) Then the same conclusions as above hold.

Once the above propositions are obtained, we can apply the abstract results Theorem 2.1 and Corollary 2.3 to obtain the existence of a unique generalized solution of (M) and its asymptotic behavior, where generalized solution of (M) means the (integral) solution of (E) when we interpret (M) as (E), with A defined above.

THEOREM 3.3. Let  $k \in L^1(\mathbb{R}^+)$ , nonnegative, nonincreasing and bounded. Let  $h \in L^1(\mathbb{R}^+; L^p(0,1))$  and  $u_0 \in L^p(0,1)$ , 1 . Assuming either (3.1) and (3.2), or (3.3), then the unique generalized solution <math>u(t,x) of (M) exists and it converges strongly in  $L^p(0,1)$  to some constant  $S_\infty$  satisfying  $0 \in \mathcal{B}_{\frac{1}{2}}(S_\infty)$  (i=0,1).

Remarks 1. In the case of Neumann boundary condition, (3.1) is unnecessary as will be shown in (9), and it is easy to see that  $\xi_{\infty} = \int_{0}^{1} u_{0}(x) dx + (1 + \int_{0}^{\infty} k(s) ds)^{-1} \int_{0}^{\infty} \int_{0}^{1} h(t, x) dx dt \quad (cf. (2)).$ 

2. In the case of Dirichlet boundary condition, we don't know (3.3) can be removable. (For A to be m-accretive, it sufficies to assume only (3.1) as shown in Lemma 4.2.) If the Dirichlet boundary condition and (3.3) are assumed, A becomes strongly accretive by the Poincaré inequality and if k is as above, we can obtain the estimate of decay ((4), (8)):

$$(3.4) \quad \|\mathbf{u}(t)\|_{p} \leq \left(\int_{t}^{\infty} r(\tau) d\tau\right) \|\mathbf{u}_{0}\|_{p} + \omega^{-1} \int_{0}^{t} r(t-\tau) \left[\mathbf{u}(\tau), h(\tau)\right]_{+} d\tau,$$

where  $\omega > 0$  is a constant for which  $A-\omega I$  is accretive, and r is defined by  $r+\omega b*r=\omega b$ , b+k\*b=1, and  $[x,y]_{+}=\lim_{\lambda \downarrow 0}(\|x+\lambda y\|-\|x\|)/\lambda$ . It is known (4) that  $r \ge 0$  and  $r \in L^1(0,\infty)$ . Observe that if  $k \equiv 0$ , then  $\int_{t}^{\infty} r(\tau) d\tau = \frac{C}{\omega} e^{-\omega t}$ . Thus (3.4) corresponds to an exponential decay.

Proofs of Proposition 3.1 and 3.2.
 The proofs are established by a series of lemmas below.

Lemma 4.1. A is accretive in  $L^p(0,1)$ .

Proof. It sufficies to prove the accretiveness of L in  $L^p$  (0,1).

$$\|u-v\|^{p-1}[u-v,Lu-Lv]_{+} = -\int_{0}^{1}|u-v|^{p-1}sgn(u-v)(\sigma(u')'-\sigma(v')')$$

$$= (-|u-v|^{p-1}sgn(u-v)(\sigma(u')-\sigma(v')))\frac{1}{0}$$

$$+\int_{0}^{1}(p-1)|u-v|^{p-2}(sgn(u-v))^{2}(u'-v')(\sigma(u')-\sigma(v'))$$

$$= -|u(1)-v(1)|^{p-2}(u(1)-v(1))(\sigma(u'(1))-\sigma(v'(1)))$$

$$+|u(0)-v(0)|^{p-2}(u(0)-v(0))(\sigma(u'(0))-\sigma(v'(0)))$$

$$+\int_{0}^{1}(p-1)|u-v|^{p-2}(u'-v')(\sigma(u')-\sigma(v'))$$

Since  $-u'(1) \in \mathcal{B}_1(u(1))$ ,  $-v'(1) \in \mathcal{B}_1(v(1))$ ,  $\mathcal{B}_1$  is monotone and  $\sigma$  is increasing,  $\operatorname{sgn}(\sigma(u'(1)) - \sigma(v'(1))) = \operatorname{sgn}(u'(1) - v'(1)) = -\operatorname{sgn}(u(1) - v'(1))$ . Thus  $(u(1) - v(1)) (\sigma(u'(1)) - \sigma(v'(1))) \le 0$ . Similarly,  $(u(0) - v(0)) (\sigma(u'(0)) - \sigma(v'(0))) \ge 0$ . Also, since  $\sigma$  is increasing,  $(u' - v') (\sigma(u') - \sigma(v')) \ge 0$ . Hence  $[u - v, Lu - Lv]_+ \ge 0$ .

Lemma 4.2. Assume (3.1). Then A is m-accretive in  $L^p$  (0,1).

Proof. (14) shows that L is m-accretive in C(0,1). Hence  $C(0,1)=R(I+L)\subset R(I+A)\subset L^p(0,1)\,.$ 

By Lemma 4.1, A is accretive in  $L^p(0,1)$ , and by the definition it is closed in  $L^p(0,1)$ . Hence R(I+A) is a closed subset of  $L^p(0,1)$ , and so  $L^p(0,1)=R(I+A)$ .

Lemma 4.3. Assume (3.2). Then  $D(A) \subset \{u \in W^{2, p}(0, 1); u'(0) \in \mathcal{B}_{0}(u(0)), -u'(1) \in \mathcal{B}_{1}(u(1))\}, \text{ and}$   $Au = -\sigma(u')' \quad \text{for } u \in D(A).$ 

Proof. Suppose (3.2) holds for i=0. Let  $(u,v) \in A$ . Then there exist  $u_n \in D(L)$  such that  $u_n \to u$  in  $L^p(0,1)$  and  $-\sigma(u_n')' \to v$  in  $L^p(0,1)$ . Since  $u_n'(0) \in \mathcal{B}_0(u_n(0))$ , one can extract a subsequence  $\{n_k\} \subset \{n\}$  such that  $u_n'(0) \to \exists w \in R$ . For simplicity, denote  $n_k$  by a gain. Noting that

(4. 1) 
$$\sigma(u_n'(x)) - \sigma(u_n'(0)) = \int_0^x \sigma(u_n'(\tau))' d\tau$$
,

we have

(4.2) 
$$|u_n'(x)| \le C$$

Furthermore, (4.1) and the continuity of  $\sigma^{-1}$  imply that  $u_n'(x)$   $\to \sigma^{-1}(\sigma(w)-V(x))$ ,  $x \in (0,1)$ , where  $V(x)=\int_0^x v(\tau)\,d\tau$ . Therefore,  $u_n' \to \sigma^{-1}(\sigma(w)-V(\cdot))$  in  $L^p(0,1)$ . It then follows that  $u \in W^{1,p}(0,1)$  and  $u'=\sigma^{-1}(\sigma(w)-V)$ . Since  $V \in W^{1,p}(0,1)$ , we have  $u \in W^{2,p}(0,1)$  and  $\sigma(u')'=-v$ . Thus A is single-valued and  $Au=-\sigma(u')'$  for  $u \in D(A)$ .

Finally, we check the boundary condition. Since  $\sigma(u_n')' \to -Au = \sigma(u')'$  in  $L^p$ , there exist  $n_j \to \infty$  such that  $\sigma(u_{n_j}'(x))' \to \sigma(u'(x))'$  a.e.  $x \in (0,1)$  and  $|\sigma(u_{n_j}'(x))'| \le h(x), \forall j$ , a.e.  $x \in (0,1)$  for some  $h \in L^p(0,1)$ . (see e.g. (3, Theorem IV9).) Then observing  $\sigma^{-1} \in C^1(R)$  and  $u_n''(x) = (\sigma^{-1})' (\sigma(u_n'(0)) + \int_0^x \sigma(u_n'(\tau))' d\tau) \sigma(u_n'(x))'$ , we have  $u_{n_j}''(x) \to (\sigma^{-1})' (\sigma(w) + \int_0^x \sigma(u'(\tau))' d\tau) \sigma(u'(x))' = u''(x)$  a.e. x, and

A implies A = B.

 $|u_{n_{j}}^{"}(x)| \leq Mh(x). \quad (\text{Here note that } |\int_{0}^{x} \sigma(u')' d\tau| \leq \int_{0}^{1} |\sigma(u'_{n})'| d\tau \rightarrow \int_{0}^{1} |\sigma(u')'| d\tau, \quad (4.2), \quad \text{and } \sigma^{-1} \in C^{1}(R) \quad \text{imply that } |(\sigma^{-1})' (\sigma(u'_{n_{j}}(0)) + \int_{0}^{x} \sigma(u'_{n_{j}})' d\tau| \leq M.) \quad \text{Thus by the Lebesgue convergence theorem,}$   $|u_{n_{j}}^{"}(0)| = u'' \quad \text{in } L^{p}, \quad \text{so that } u_{n} \rightarrow u \quad \text{in } W^{2,p}(0,1) \subseteq C^{1}(0,1) \quad \text{and then}$   $|u'_{n}(0)| \rightarrow u''(0), \quad u_{n}(0) \rightarrow u'(0), \quad u'_{n}(1) \rightarrow u'(1), \quad \text{and } u_{n}(1) \rightarrow u'(1). \quad \text{By the closedness of } \mathcal{B}_{i}(i=0,1), \quad \text{we conclude that } u''(0) \in \mathcal{B}_{0}(u(0))$   $|u_{n}(0)| = u''(1) \in \mathcal{B}_{1}(u(1)). \quad \text{If } (3.2) \quad \text{holds for } i=1, \quad \text{then instead of }$   $|u_{n}(0)| = u''(1) \in \mathcal{B}_{1}(u(1)). \quad \text{If } (3.2) \quad \text{holds for } i=1, \quad \text{then instead of }$   $|u_{n}(0)| = u''(1) \in \mathcal{B}_{1}(u(1)). \quad \text{If } (3.2) \quad \text{holds for } i=1, \quad \text{then instead of }$   $|u_{n}(0)| = u''(1) \in \mathcal{B}_{1}(u(1)). \quad \text{If } (3.2) \quad \text{holds for } i=1, \quad \text{then instead of }$   $|u_{n}(0)| = u''(1) = u''($ 

- Lemma 4.4. Assume (3.1) and (3.2). Then  $D(A) = \{u \in \mathbb{W}^{2, p}(0, 1); u'(0) \in \mathcal{B}_{0}(u(0)), -u'(1) \in \mathcal{B}_{1}(u(1))\}, \text{ and } Au = -\sigma(u')' \text{ for } u \in D(A).$
- Proof. Define B:L<sup>p</sup>  $\rightarrow$  L<sup>p</sup> by  $D(B) = \{u \in W^{2,p}(0,1); u'(0) \in \mathcal{B}_0(u(0)), -u'(1) \in \mathcal{B}_1(u(1))\}, \text{ and } Bu = -\sigma(u')' \text{ for } u \in D(B).$  As Lemma 4.1, B is accretive in L<sup>p</sup>(0,1) and by Lemma 4.3, A  $\subset$  B. Since A is m-accretive in L<sup>p</sup>(0,1) by Lemma 4.2, the maximality of

Lemma 4.5. Assume (3.3). Then  $D(A) = \{u \in W^{2,p}(0,1); u'(0) \in \mathcal{B}_0(u(0)), -u'(1) \in \mathcal{B}_1(u(1))\}, \text{ and}$   $Au = -\sigma(u')' \quad \text{for } u \in D(A).$ 

Proof. Let  $(u,v) \in A$ . Then there exist  $u_n \in D(L)$  such that  $u_n \to u$  in  $L^p$  and  $-\sigma(u'_n)' \to v$  in  $L^p$ . Hence  $\|\sigma'(u'_n)' u_n^n\|_p \le M$ . Since  $M^p \ge \int_0^1 |\sigma'(u'_n) u_n^n|^p \ge \int_0^1 \delta^p |u_n^n|^p, \text{ we have}$   $(4.4) \quad \|u_n^n\|_p \le M/\delta.$ 

Moreover, since  $\|u_n\|_p \leq M'$ ,

(4.5) 
$$\|u_n\|_p^p \le K(\|u_n\|_p^p + \|u_n\|_p^p) \le M$$
,

where K depends only on p (cf. (1, Lemma 4.1)). Similarly to Lemma 4.3, we obtain from (4.5) that  $u \in W^{1,p}(0,1)$ . Furthermore by (4.4), we have  $u \in W^{2,p}(0,1)$ . Again by (4.4) and (4.5),

(4.6) 
$$\| \mathbf{u}_{\mathbf{n}} \|_{C^{1}(0,1)}^{2} \le C \| \mathbf{u}_{\mathbf{n}} \|_{W^{2}, p} \le \widetilde{M}.$$

Especially, since  $|u_n'(0)| \leq \widetilde{M}$ ,  $u_{n_k}'(0) \to^{\exists} w \in \mathbb{R}$  for some subsequence  $n_k \to \infty$ . Then by (4.1) and continuity of  $\sigma^{-1}$ ,  $u_{n_k}'(x) \to \sigma^{-1}(\sigma(w) - \int_0^x v(\tau) d\tau)$ . Noting (4.6), we obtain  $u_{n_k}' \to \sigma^{-1}(\sigma(w) - V)$  in  $L^p(0,1)$ , where  $V(x) = \int_0^x v(\tau) d\tau$ . Then similarly to Lemma 4.3, we can conclude that A is single-valued and  $Au = -\sigma(u')'$  for  $u \in D(A)$ . The boundary condition is shown in the same way as in Lemma 4.3. Since A is maccretive, the rest of proof is similar to Lemma 4.4.

Lemma 4.6. Assume (3.1) and (3.2). Then  $(I+A)^{-1}$  is a compact operator in  $L^p(0,1)$ .

Proof. Suppose first that (3.2) holds for i=0. Let  $f \in L^p$  (0,1) and take  $u \in D(A)$  such that u+Au=f. Then by Lemma 4.4,

(4.7) 
$$\sigma(u'(x)) - \sigma(u'(0)) = \int_0^x u - \int_0^x f$$
.

Then by the Hölder inequality and Lemma 4.1, we have  $\|u\|_{W^{1,p}} \le C(\|f\|_p)$ . Since the imbedding  $W^{1,p}(0,1) \subset L^p(0,1)$  is compact, we conclude that  $(I+A)^{-1}$  is compact. If (3.2) holds for i=1, we use  $\sigma(u'(1)) - \sigma(u'(x)) = \int_{x}^{1} u - \int_{x}^{1} f$  instead of (4.7) for  $f \in L^p(0,1)$ .

Lemma 4.7. Assume (3.3). Then  $(I+A)^{-1}$  is a compact operator in  $L^p(0,1)$ .

Proof. For  $f \in L^p(0,1)$ , take  $u \in D(A)$  such that u+Au=f. Then by (3.3) and Lemma 4.5,  $|u''(x)| \le \frac{1}{\delta}(|u(x)|+|f(x)|)$ , so that  $||u''||_p \le \frac{C}{\delta}(||u||_p + ||f||_p) \le \frac{2C}{\delta}||f||_p$  (by Lemma 4.1). Hence  $||u'||_p \le K(||u''||_p + ||u||_p) \le C(||f||_p)$  and the rest of proof can be done as in Lemma 4.6.

<u>Lemma 4.8.</u> Assume either (3.1) and (3.2), or (3.3). Then A satisfies the convergence condition.

Proof. Keeping the Lemmas 4.4 and 4.5 in mind, we observe firstly that  $A^{-1}0 \ni u \Leftrightarrow u(x) = \text{const}$  and writing  $u(x) = u_0$ ,  $0 \in \mathcal{B}_i(u_0)$  (i=0,1).  $(\Rightarrow) \quad \sigma(u')'=0 \Leftrightarrow \sigma(u')=\text{const} \Leftrightarrow u'=\text{const} \Leftrightarrow u(x)=\text{ax+b}$ . Since  $u \in D(A)$ ,  $u'(0) \in \mathcal{B}_0(u(0))$  and  $-u'(1) \in \mathcal{B}_1(u(1))$ , so that  $a \in \mathcal{B}_0(b)$  and  $-a \in \mathcal{B}_1(a+b)$ . Since  $\mathcal{B}_i$  are monotone and  $0 \in \mathcal{B}_i(0)$ , we have  $a \cdot b \geq 0$  and  $-a(a+b) \geq 0$ , which implies a=0. Thus u(x)=b and  $0 \in \mathcal{B}_i(b)$ .  $(\Leftarrow)$  trivial.

Above observation shows that if  $u \in D(A)$  and  $u \notin A^{-1}0$ , then  $u \neq const$ . In fact, if  $u \notin A^{-1}0$ , then either  $u \neq const$  or  $u = u_0$  and  $0 \notin \mathcal{B}_i(u_0)$  (i=0 or 1). Since  $u \in D(A)$ ,  $u = u_0$  implies  $0 \in \mathcal{B}_i(u_0)$ . Thus only  $u \neq const$  is valid.

Let  $P:L^p(0,1) \to A^{-1}0$  be the nearest point mapping, and  $u \in D(A)$  and  $u \notin A^{-1}0$ . Then, by virtue of Lemmas 4.4 and 4.5,

$$\langle \mathrm{Au}, \mathrm{J}(\mathrm{u}-\mathrm{Pu}) \rangle_{\parallel} \mathrm{u}-\mathrm{Pu}_{\parallel}^{p-2} = \int_{0}^{1} -\sigma(\mathrm{u'})' \, \mathrm{sgn}\,(\mathrm{u}-\mathrm{Pu})_{\parallel} \mathrm{u}-\mathrm{Pu}_{\parallel}^{p-1} \\ = (-\sigma(\mathrm{u'})' \, \mathrm{sgn}\,(\mathrm{u}-\mathrm{Pu})_{\parallel} \mathrm{u}-\mathrm{Pu}_{\parallel}^{p-1})_{0}^{1} + (\mathrm{p}-1) \int_{0}^{1} \sigma(\mathrm{u'})_{\parallel} \mathrm{u'}_{\parallel}^{p-2} + (\mathrm{p}-1)_{0}^{1} \sigma(\mathrm{u'})_{\parallel}^{p-2} + (\mathrm{p}-1)_{0}^{1} \sigma(\mathrm{u'})_{\parallel}^{p-2} + (\mathrm{p}-1)_{0}^{1} \sigma(\mathrm{u'})_{\parallel}^{p-2} + (\mathrm{p}-1)_{0}^{p-2} + (\mathrm$$

Acknowledgements. The author thanks Professor Serizawa of Niigata Univ. for valuable discussion and also thanks Professor Miyadera for his encouragement.

## References

- (1) R. A. Adames, Sobolev spaces, Academic Press (1975).
- (2) J.B. Baillon and P. Clement, Ergodic theorems for non-linear Volterra equations in Hilbert space, Nonlinear Analysis 5 (1981) 789-801.
- (3) H. Brezis, Analyse fonctionelle, Theorie et applications,
  Masson 1983.
- (4) Ph. Clement and J. A. Nohel, Asymptotic behavior of solutions of nonlinear Volterra equations with completely positive kernels, SIAM J. Math. Anal. 12 (1981) 514-535.
- (5) M.G. Crandall and J.A. Nohel, An abstract functional differential equation and a related nonlinear Volterra equation, Israel J. Math. 29 (1978) 313-328.
- (6) K. Goebel and S. Reich, Uniform convexity, hyperbolic geometry, and nonexpansive mappings, Marcel Dekker Inc. (1983).
- (7) D. S. Hulbert and S. Reich, Asymptotic behavior of solutions to nonlinear Volterra equations, J. Math. Anal. Appl. 104 (1984) 155-172.
- (8) N. Kato, Unbounded behavior and convergence of solutions of nonlinear Volterra equations in Babach spaces, preprint.
- (9) N. Kato, On the asymptotic behavior of solutions of nonlinear heat equation with memory (in Japanese), Gakujutu kenkyu, Waseda Univ., in press.

- (10) N. Kato, K. Kobayasi and I. Miyadera, On the asymptotic behavior of solutions of evolution equations associated with nonlinear Volterra equations, Nonlinear Analysis, 9 (1985) 419-430.
- (11) O. Nevanlinna and S. Reich, Strong convergence of contraction semigroups and of iterative methods for accretive operators in Banach spaces, Israel J. Math. 32 (1979) 44-58.
- (12) A. Pazy, Strong convergence of semigroups of nonlinear contractions in Hilbert space, J. D'analyse Math. 34 (1978) 1-35.
- (13) S. Reich, Nonlinear semigroups, holomorphic mappings, and integral equations, Proc. Symposia in Pure Math. 45 (1986) 307-324, AMS.
- (14) H. Serizawa, M-Browder accretiveness of a quasilinear differential operator, Houston J. Math. 10 (1984) 147-152.